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What is the mismatch?



































Solution from Local energy injection at epoch of 
recombination: 

Decaying dark matter.      
 K Pandey (IIA), T Karwal ( JHU), SD 1902.10636









• Whole game of energy injection/ increasing H(z)  
is between z=10^3  to 10^4 

• DM decay has to stop or ineffective after t~ Myr  
otherwise ruled out by late time observables 

• DM decay rate ~ H(z) ~ T^2.  
  But very hard to model from partiale physics 

Challenges with solving H_0 with  DM decay 




